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Conic Section Review  
Show all work and reasoning.  Use a pencil and highlight your answers.
	1.  Solve each inequality.
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	2.  Simplify each expression.
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	3.  Solve for x.
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	4.  Solve each problem.  

	a)  An account earning 5% interest, compounded monthly, starts with $1200.  In how many years will the account contain $5000?


	b)  Upon starting treatment, an initial number of 50,000 bacteria decrease by one third every day.  In how many days will there be only 10 bacteria?

	5.  Given 
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	6.  Name each conic section, graph it, and identify all applicable information (center, endpoints, vertices, asymptotes, etc).
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	7.  Simplify completely.

	a)  
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	c)  
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